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and cxplain bricfly

dineram ol a digital communication system

O1) Draw a block g
the Tunction ol cach stage.
3]

(02) what is sampling theorem.

(3) The information in the signal x(1) is Lo be wransmitted over PCM system with an

accuracy of 10,12V maximum. where x(1) = 10sin(2000mt)
i) Find the minimum sampling rate required.

i) I'ind the number of bits in cach PCM word.

i) Find minimum bit rate required in the PCM word.

iv) Find the minimum absolute channel bandwidth required for the transmission o
the PCM signal. (8]
Q4) Twenty five voice signals are sampled uniformly and then have to be time
division multiplexed. the highest [requency component for cach voice signal is

cqual to 3.4 kl'lz. Now

1) 11 the signals are pulse amplitude modulated using a sampling rate ol 20% higher
than the Nyquist rate, what would be the minimum channel bandwidth required.

i) 1F the signal are pulsc code modulated with an 8 bit encoder, what would be thza

sampling rate? the bit rate of the system is given as 1.5 X 10° bits/sec . [8]

Q5) With the help ol schematic diagram explain the principle of Non-coherent
detection binary frequency shift keying( BFSK). what is the feature an drawback of
I'SK system. ) [6]

Q0) Binary data is transmitted over a microwave link at a rate ol 10° bits/sec and
y PR ) T o T e 1o 1 1
the PSI ol noise at the receiver inputis 10 ' waus 7 1. Find the average carrier
DOWCT require ANLAIM an 9y erave probabiling o erear P« 104 ¢ W i
]BPS ! jurred to mamtam an average probability oi error Pe < 1077 for BI'SK and
SK systems . what will be the required channel bandwidth in each case,
comment on the results? [10]
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Q 1: (8) Define - decoding 1i- quantizing errors Tii- slope overhead iv- sample (12mark)
(b) A signal m(t) bandlimited to 3KHz is sampled at a rate 33.3% higher then
Nyquist rate the minimum acceptable error on the sample amplitude is 0.5% of
The peak amplitude MP the quantization samples are binary coded .
find the minimum BW of the of the channel required to transmit the encode
binary signal if 24 such signals are Time division multiplexing , determine the

minimum transmission BW requires to transmit the multiplexed signal .

Q2: ( a) what is meant by aliasing effect . ( 10 mark)
(b) with a relevant diagram ,describe the operation of delta modulation .

(c) Explain in detail the various sources of noise in delta modulation system

Q3: (a) : What is the difference between Time division multiplexing and frequency
division multiplexing . (8 mark)
(b) for FSK wave the baud rate is 1200 bps and f1 =2100 Hz , 2 = 1300 Hz
Determine (i) Nominal carrier frequency (ii) Bandwidth
Sketch the frequency response curve , assuming that the wave varies equally

About the nominal carrier frequency

Q4: (a) Briefly explain how ASK ,PSK and FSK signals are generated (10 mark)

(b) Explain in detail with block diagram the operation of QPSK

Good luck for everyone
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